

Because learning changes everything."

QUOTE PREPARED FOR:

SUBSCRIPTION/DIGITAL CONTACT:

TEACH TECH CHARTER HIGH SCH 10000 S WESTERN AVE LOS ANGELES, CA 90047-4254 ACCOUNT NUMBER: 7668261

CONTACT:

SALES REP INFORMATION:

Gerren Bennett gerren.bennett@mheducation.com

Section Summary	Value of All Materials	Free Materials	Product Subtotal	
CA Study Sync Silver Package B: 3-Year Bound	\$0.00	\$0.00	\$0.00	
Grade 9	\$14,834.44	(\$1,247.68)	\$13,586.76	
Grade 10	\$14,834.44	(\$1,247.68)	\$13,586.76	
<u>Grade 11</u>	\$14,834.44	(\$1,247.68)	\$13,586.76	
Grade 12	\$11,540.68	(\$1,247.68)	\$10,293.00	
CA IMPACT Grade 10 - World History, Culture, & Geography: The Modern World	\$21,129.32	(\$1,731.92)	\$19,397.40	
CA IMPACT Grade 11 - United States History & Geography: Continuity & Change	\$21,129.32	(\$1,731.92)	\$19,397.40	
CA IMPACT Grade 12 - Principles of Economics	\$18,024.36	(\$1,833.36)	\$16,191.00	
CA IMPACT Grade 12 - Principles of American Democracy	\$18,024.36	(\$1,833.36)	\$16,191.00	
CA Inspire Biology	\$16,354.52	(\$1,447.76)	\$14,906.76	
CA Inspire Chemistry	\$16,354.52	(\$1,447.76)	\$14,906.76	
Cunningham, Principles of Environmental Science, 2023, 1e	\$14,472.24	(\$968.64)	\$13,503.60	
Professional Development	\$10,500.00	\$0.00	\$10,500.00	
PRODUCT TOTAL*	\$192,032.64	(\$15,985.44)	\$176,047.20	
ESTIMATED S&H**			\$4,518.97	
ESTIMATED TAX**			\$15,726.98	
GRAND TOTAL*			\$196,293.15	

^{*} Price firm for 45 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

Comments

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

QUOTE DATE: QUOTE NUMBER:

05/22/2023 JMCCO-05222023122759-001 ACCOUNT NAME: TEACH TECH CHARTER HIGH SCH

EXPIRATION DATE:

07/06/2023

ACCOUNT #: 7668261

PAGE #: 1

Because learning changes everything."



^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.



Student Resources Student Resources Student Resources Student Resources Student Resources Student Resources STUDYSYNC GRADE 9 CALIFORNIA, ELD TEACHER RESOURCE GOMPANION 978-1-94-276494-6 4 \$5 \$5 \$5 \$5 \$5 \$5 \$5	e Free Materials	Line Subtotal
Student Resources Stud		
Student Resources	ototal: \$0.0	00 \$0.0
STUDYSYNC G9 CALIFORNIA 3/3 STDNT W/DESIGNATED ELD & RW 3 978-0-07-905736-5 132 STUDYSYNC GRADE 9 CALIFORNIA, ELD TEACHER RESOURCE 978-1-94-276494-6 4 SS STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 1 GRADE 9 978-1-94-328660-7 4 SS STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 2 GRADE 9 978-1-94-328661-4 4 SS STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 3 GRADE 9 978-1-94-328661-4 4 SS STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 3 GRADE 9 978-1-94-328661-4 4 SS STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 9 978-1-94-328663-8 4 SS STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 9 978-1-94-328663-8 4 SS STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 9 978-1-94-328663-8 4 SS STUDYSYNC CALIFORNIA TEACHER WITH DESIGNATED ELD 3 978-0-02-137937-8 4 ST STUDYSYNC CALIFORNIA SIZE STUDYSYNC CALIFORNIA SIZE STUDYSYNC CALIFORNIA SIZE STUDYSYNC GOTO CALIFORNIA SIZE STUDYSYNC GOTO CALIFORNIA SIZE STUDYSYNC GOTO CALIFORNIA, ELD TEACHER RESOURCE STUDYSYNC GRADE 10 CALIFORNIA, ELD TEACHER RESOURCE STUDYSYNC GRADE 10 CALIFORNIA, ELD TEACHER RESOURCE STUDYSYNC GRADE 10 CALIFORNIA, ELD TEACHER RESOURCE STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 1 GRADE 10 978-1-94-328664-5 4 SZ STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 2 GRADE 10 978-1-94-328666-9 4 SZ STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 2 GRADE 10 978-1-94-328666-9 4 SZ STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 3 GRADE 10 978-1-94-328666-9 4 SZ STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 10 978-1-94-328666-9 4 SZ STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 10 978-1-94-328666-9 4 SZ STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 10 978-1-94-328666-9 4 SZ STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 10 978-1-94-328666-9 4 SZ STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 978-0-02-137937-8 4 ST TEACHER RESOURCES STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 978-0-02-137937-8 4 ST TEACHER RESOURCES STUDYSYNC		
978-0-07-905736-5 132 \$10		
STUDYSYNC GRADE 9 CALIFORNIA, ELD TEACHER RESOURCE	92.93 \$0.0	\$13,586.7
STUDYSYNC GRADE 9 CALIFORNIA, ELD TEACHER RESOURCE COMPANION STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 1 GRADE 9 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 2 GRADE 9 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 3 GRADE 9 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 3 GRADE 9 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 9 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 9 STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 YEAR SUBSCRIPTION Teacher Resources Subscription Teacher Resources STUDYSYNC GOL CALIFORNIA 3/3 STDNT W/DESIGNATED ELD 8 RW 3 YEAR BUNDLE STUDYSYNC GOL CALIFORNIA 3/3 STDNT W/DESIGNATED ELD 8 RW 3 YEAR BUNDLE STUDYSYNC GOLO CALIFORNIA, ELD TEACHER RESOURCE COMPANION STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 1 GRADE 10 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 1 GRADE 10 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 2 GRADE 10 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 2 GRADE 10 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 3 GRADE 10 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 10 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 5 GRADE 10 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 6 GRADE 10 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 7 GRADE 10 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 8 GRADE 10 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 9 GRADE 10 STUDYSYNC CALIFORNIA TEACHER EDITI	ototal: \$0.0	00 \$13,586.7
STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 1 GRADE 9 978-1-94-328660-7 4 \$2 \$3 \$3 \$3 \$3 \$3 \$3 \$3		
STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 2 GRADE 9 978-1-94-328661-4 4 52 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 3 GRADE 9 978-1-94-328662-1 4 52 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 9 978-1-94-328663-8 4 52 STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 978-0-02-137937-8 4 \$11 Teacher Resources Subscription Teacher Resources STUDYSYNC G10 CALIFORNIA 3/3 STDNT W/DESIGNATED ELD 8 RW 3 978-0-07-905737-2 132 \$10 STUDYSYNC G10 CALIFORNIA 3/3 STDNT W/DESIGNATED ELD 8 RW 3 978-0-07-905737-2 132 \$10 STUDYSYNC G10 CALIFORNIA 1/3 STDNT W/DESIGNATED ELD 8 RW 3 978-1-94-276495-3 4 \$50 STUDYSYNC G10 CALIFORNIA, ELD TEACHER RESOURCE COMPANION STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 1 GRADE 10 978-1-94-328664-5 4 \$2 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 2 GRADE 10 978-1-94-328666-9 4 \$2 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 3 GRADE 10 978-1-94-328666-9 4 \$2 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 10 978-1-94-328667-6 4 \$2 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 10 978-1-94-328667-6 4 \$2 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 10 978-1-94-328667-6 4 \$2 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 10 978-1-94-328667-6 4 \$2 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 10 978-1-94-328667-6 4 \$2 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 10 978-1-94-328667-6 4 \$2 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 10 978-1-94-328667-6 4 \$2 STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 978-0-02-137937-8 4 \$11 Teacher Resources Subscription Teacher	99.19 \$396.7	*Free Material
STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 3 GRADE 9 978-1-94-328662-1 4 52 STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 978-0-02-137937-8 4 \$11 Teacher Resources Sut Grade 9 Sut Grade 10 Student Resources STUDYSYNC GRADE 10 CALIFORNIA 3/3 STDNT W/DESIGNATED ELD & RW 3 978-0-07-905737-2 132 \$16 STUDYSYNC GRADE 10 CALIFORNIA, ELD TEACHER RESOURCE COMPANION 978-1-94-328664-5 4 \$2 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 1 GRADE 10 978-1-94-328664-5 4 \$2 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 2 GRADE 10 978-1-94-328666-9 4 \$2 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 3 GRADE 10 978-1-94-328666-9 4 \$2 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 3 GRADE 10 978-1-94-328666-9 4 \$2 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 3 GRADE 10 978-1-94-328666-9 4 \$2 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 10 978-1-94-328666-9 4 \$2 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 10 978-1-94-328666-9 4 \$2 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 10 978-1-94-328666-9 4 \$2 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 10 978-1-94-328666-9 4 \$2 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 10 978-1-94-328666-9 4 \$2 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 10 978-1-94-328666-9 4 \$2 STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 978-0-02-137937-8 4 \$11 STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 978-0-02-137937-8 4 \$11 STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 978-0-02-137937-8 4 \$11 STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 978-0-02-137937-8 4 \$11 STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 978-0-02-137937-8 4 \$11 STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 978-0-02-137937-8 4 \$11 STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 978-0-02-137937-8 4 \$11 STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 978-0-02-137937-8 4 \$11 STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 978-0-02-137937-8 4 \$11 STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 978-0-02-	23.19 \$92.7	76 *Free Materia
### STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 9 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC GROUP CALIFORNIA 3/3 STDNT W/DESIGNATED ELD & RW 3 ### RESOURCES ### STUDYSYNC GROUP CALIFORNIA 3/3 STDNT W/DESIGNATED ELD & RW 3 ### RESOURCES ### STUDYSYNC GROUP CALIFORNIA 3/3 STDNT W/DESIGNATED ELD & RW 3 ### STUDYSYNC GROUP CALIFORNIA BY STUDYSYNC GRADE 10 CALIFORNIA, ELD TEACHER RESOURCE ### COMPANION ### STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 1 GRADE 10 ### STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 2 GRADE 10 ### STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 3 GRADE 10 ### STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 3 GRADE 10 ### STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 10 ### STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 10 ### STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 10 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONL	23.19 \$92.7	76 *Free Materia
### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 YEAR SUBSCRIPTION Teacher Resources Subscription	23.19 \$92.7	76 *Free Material
\$11 Teacher Resources Substitution \$78-0-02-137937-8 4 \$11 Teacher Resources Substitution \$78-0-02-137937-8 4 \$11 Student Resources Substitution \$78-0-07-905737-2 \$132 \$10 Student Resources Substitution \$78-0-07-905737-2 \$132 \$10 Student Resources Substitution \$78-0-07-905737-2 \$132 \$10 Student Resources Substitution \$78-1-94-276495-3 4 \$10 Student Resources Substitution \$78-1-94-276495-3 4 \$10 Student Resources Substitution \$78-1-94-328664-5 4 \$2 Study Sync California Teacher Edition Unit 1 Grade 10 \$78-1-94-328664-5 4 \$2 Study Sync California Teacher Edition Unit 2 Grade 10 \$78-1-94-328665-2 4 \$2 Study Sync California Teacher Edition Unit 3 Grade 10 \$78-1-94-328666-9 4 \$2 Study Sync California Teacher Edition Unit 4 Grade 10 \$78-1-94-328667-6 4 \$2 Study Sync California Teacher Edition Unit 4 Grade 10 \$78-1-94-328667-6 4 \$2 Study Sync California Online Teacher With Designated Eld 3 \$78-0-02-137937-8 4 \$11 Student Resources Substitution \$78-1-94-328667-6 \$1 Student Resources Substitution \$18-1-94-328667-6 \$1 Student Resources Substitution \$18-1-94-32867-6 \$1 Student Resources Substitutio	23.19 \$92.7	76 *Free Material
Student Resources	9.97 \$479.8	*Free Materia
Student Resources	ototal: \$1,247.6	58 \$0.0
### STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 10 ### STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 10 ### STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 10 ### STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 10 ### STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 5 GRADE 10 ### STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 6 GRADE 10 ### STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 7 GRADE 10 ### STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 8 GRADE 10 ### STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 9 GRADE 10 ### STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 9 GRADE 10 ### STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 9 GRADE 10 ### STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 9 GRADE 10 ### STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 9 GRADE 10 ### STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 9 GRADE 10 ### STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 9 GRADE 10 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 ### STUDYSYNC CALIFORNIA ONLINE TEACHER EDITION UNIT 4 GRADE 10 ### STUDYSYNC CALIFORNIA ONLINE TEACHER EDITION UNIT 5 GRADE 10 ### STUDYSYNC CALIFORNIA ONLINE TEACHER EDITION UNIT 5 GRADE 10 ### STUDYSYNC CALIFORNIA ONLINE TEACHER EDITION UNIT 5 GRADE 10 ### STUDYSYNC CALIFORNIA ONLINE TEACHER EDITION UNIT 5 GRADE 10 ### STUDYSYNC CALIFORNIA ONLINE TEACHER EDITION UNIT 5 GRADE 10 ### STUDYSYNC CALIFORNIA ONLIN	ototal: \$1,247.6	8 \$13,586.7
STUDYSYNC G10 CALIFORNIA 3/3 STDNT W/DESIGNATED ELD & RW 3 978-0-07-905737-2 132 \$10		
STUDYSYNC GALIFORNIA 3/3 STDNT W/DESIGNATED ELD & RW 3 978-0-07-905737-2 132 \$10		
Teacher Resources STUDYSYNC GRADE 10 CALIFORNIA, ELD TEACHER RESOURCE COMPANION STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 1 GRADE 10 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 2 GRADE 10 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 2 GRADE 10 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 3 GRADE 10 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 3 GRADE 10 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 10 STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 YEAR SUBSCRIPTION Teacher Resources Subscri	02.93 \$0.0	\$13,586.7
Teacher Resources STUDYSYNC GRADE 10 CALIFORNIA, ELD TEACHER RESOURCE COMPANION STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 1 GRADE 10 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 2 GRADE 10 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 2 GRADE 10 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 3 GRADE 10 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 3 GRADE 10 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 10 STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 YEAR SUBSCRIPTION Teacher Resources Subscri	ototal: \$0.0	00 \$13,586.7
### STUDYSYNC GRADE 10 CALIFORNIA, ELD TEACHER RESOURCE COMPANION 978-1-94-276495-3 4 \$\$\$ ### STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 1 GRADE 10 978-1-94-328664-5 4 \$\$\$\$ ### STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 2 GRADE 10 978-1-94-328665-2 4 \$		
STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 2 GRADE 10 978-1-94-328665-2 4 \$2 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 3 GRADE 10 978-1-94-328666-9 4 \$2 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 10 978-1-94-328667-6 4 \$2 STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 YEAR SUBSCRIPTION Teacher Resources Subscription Grade 10 Subscription PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE OF MCGraw Hill LLC PO Box 182605 Columbus, OH 43218-2605	99.19 \$396.7	76 *Free Materia
STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 3 GRADE 10 978-1-94-328666-9 4 \$2 STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 10 978-1-94-328667-6 4 \$2 STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 YEAR SUBSCRIPTION Teacher Resources Sub Grade 10 Sub Grade 11 Student Resources PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE OF MCGraw Hill LLC PO Box 182605 Columbus, OH 43218-2605	23.19 \$92.7	76 *Free Material
STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 10 978-1-94-328667-6 4 \$2 STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 YEAR SUBSCRIPTION Teacher Resources Subscription Grade 10 Subscription PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE OF McGraw Hill LLC PO Box 182605 Columbus, OH 43218-2605	23.19 \$92.7	76 *Free Material
STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 YEAR SUBSCRIPTION Teacher Resources Sub Grade 10 Sub Grade 11 Student Resources PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE OF SEND ORDER TO: McGraw Hill LLC PO Box 182605 Columbus, OH 43218-2605	23.19 \$92.7	76 *Free Material
YEAR SUBSCRIPTION 978-0-02-137937-8 Teacher Resources Sub Grade 10 Sub Grade 11 Student Resources PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE OF McGraw Hill LLC PO Box 182605 Columbus, OH 43218-2605	23.19 \$92.7	76 *Free Materia
Grade 10 Sut Grade 11 Student Resources PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE OF SEND ORDER TO: McGraw Hill LLC PO Box 182605 Columbus, OH 43218-2605	9.97 \$479.8	*Free Materia
Grade 11 Student Resources PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE OF SEND ORDER TO: McGraw Hill LLC PO Box 182605 Columbus, OH 43218-2605	ototal: \$1,247.6	\$0.0
SEND ORDER TO: McGraw Hill LLC PO Box 182605 Columbus, OH 43218-2605	ototal: \$1,247.6	§ \$13,586.7
SEND ORDER TO: McGraw Hill LLC PO Box 182605 Columbus, OH 43218-2605		
PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE OF SEND ORDER TO: McGraw Hill LLC PO Box 182605 Columbus, OH 43218-2605		
SEND ORDER TO: McGraw Hill LLC PO Box 182605 Columbus, OH 43218-2605	RDER	
	6-513-8081	
QUOTE DATE: 05/22/2023 ACCOUNT NAME: TEACH TECH CHARTER HIGH SCH QUOTE NUMBER: JMCCO-05222023122759-001 ACCOUNT #: 7668261	EXPIRATION DATE: PAGE #:	07/06/2023 2

Product DescriptionISBNQtyUnit PriceFree MaterialsLine SubtotalSTUDYSYNC G11 CALIFORNIA 3/3 STDNT W/DESIGNATED ELD & RW 3
YEAR BUNDLE978-0-07-905741-9132\$102.93\$0.00\$13,586.76

Because learning changes everything."

<u>Teacher Resources</u>						
STUDYSYNC GRADE 11 CALIFORNIA, ELD TEACHER RESOURCE COMPANION	978-1-94-276496-0	4	\$99.19	\$396.76	*Free Materials	
STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 1 GRADE 11	978-1-94-328668-3	4	\$23.19	\$92.76	*Free Materials	
STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 2 GRADE 11	978-1-94-328669-0	4	\$23.19	\$92.76	*Free Materials	
STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 3 GRADE 11	978-1-94-328670-6	4	\$23.19	\$92.76	*Free Materials	
STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 11	978-1-94-328671-3	4	\$23.19	\$92.76	*Free Materials	
STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 YEAR SUBSCRIPTION	978-0-02-137937-8	4	\$119.97	\$479.88	*Free Materials	
		Teacher Reso	ources Subtotal:	\$1,247.68	\$0.0	
		Gra	de 11 Subtotal:	\$1,247.68	\$13,586.76	
Grade 12						
Student Resources						
STUDYSYNC G12 CALIFORNIA 3/3 STDNT W/DESIGNATED ELD & RW 3 YEAR BUNDLE	978-0-07-905742-6	100	\$102.93	\$0.00	\$10,293.00	
		Student Reso	urces Subtotal:	\$0.00	\$10,293.00	
<u>Teacher Resources</u>						
STUDYSYNC GRADE 12 CALIFORNIA, ELD TEACHER RESOURCE COMPANION	978-1-94-276497-7	4	\$99.19	\$396.76	*Free Materials	
STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 1 GRADE 12	978-1-94-328672-0	4	\$23.19	\$92.76	*Free Materials	
STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 2 GRADE 12	978-1-94-328673-7	4	\$23.19	\$92.76	*Free Materials	
STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 3 GRADE 12	978-1-94-328674-4	4	\$23.19	\$92.76	*Free Materials	
STUDYSYNC CALIFORNIA TEACHER EDITION UNIT 4 GRADE 12	978-1-94-328675-1	4	\$23.19	\$92.76	*Free Materials	
STUDYSYNC CALIFORNIA ONLINE TEACHER WITH DESIGNATED ELD 3 YEAR SUBSCRIPTION	978-0-02-137937-8	4	\$119.97	\$479.88	*Free Materials	
	•	Teacher Reso	urces Subtotal:	\$1,247.68	\$0.00	
		Gra	de 12 Subtotal:	\$1,247.68	\$10,293.00	

Student Resources Subtotal:

\$0.00

\$13,586.76

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

QUOTE DATE: QUOTE NUMBER: 05/22/2023 JMCCO-05222023122759-001 ACCOUNT NAME: TEACH TECH CHARTER HIGH SCH

ACCOUNT #: 7668261

EXPIRATION DATE:

07/06/2023

PAGE #: 3

Because learning changes everything."



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
CA IMPACT Grade 10 - World History, Culture, &	Geography: The Mo	dern Wo	rld		
Student Resources					
IMPACT CA G10 CMP DGT&PRNT STDNT 4YRBDL W/SS BLASTS	978-0-07-687965-6	132	\$146.95	\$0.00	\$19,397.40
WRLDHIST CULTR&GEOG MDRNWRLD	970-0-07-007900-0	132	\$146.95	\$0.00	\$19,397.40
		Student Reso	urces Subtotal:	\$0.00	\$19,397.40

<u>Teacher Resources</u>					
IMPACT CALIFORNIA G10 TEACHER EDITION WORLD HISTORY CULTURE	070 0 07 075570 0		£450.70	****	*F M. (. / .)
& GEOGRAPHY	978-0-07-675578-3	4	\$153.79	\$615.16	*Free Materials

IMPACT CALIFORNIA G10 CHPTR TSTS & LESSN QUIZZ WRLD HIST	070 0 07 000070 4		# 00.00	0444.40	*F M. t
CULTRE&GEOGTHE MDRNWRLD	978-0-07-906373-1	4	\$28.60	\$114.40	*Free Materials
IMPACT CA G10 OTE 4 YR SUBSC WORLD HISTORY CULTURE & GEOGRAPHY THE MODERN WORLD	978-0-07-695548-0	4	\$231.00	\$924.00	*Free Materials
SOCIAL STUDIES STUDYSYNC CALIFORNIA BLASTS ADD-ON TEACHER 4 YR SUB (CONNECT2)	978-0-07-691165-3	4	\$19.59	\$78.36	*Free Materials
	Te	acher Reso	urces Subtotal:	\$1,731.92	\$0.00
CA IMPACT Grade 10 - World History	, Culture, & Geography: 1	he Modern	World Subtotal:	\$1,731.92	\$19,397.40
CA IMPACT Grade 11 - United States History & Geog	graphy: Continuit	y & Char	nge		
Student Resources					
IMPACT CA G11 CMPLT DGTL&PRNT SE 4YR BNDL W/STUDYSYNC BLASTS US HIST GEOG CC	978-0-07-688141-3	132	\$146.95	\$0.00	\$19,397.40
	s	tudent Reso	urces Subtotal:	\$0.00	\$19,397.40
Teacher Resources					
IMPACT CALIFORNIA G11 TEACHER EDITION UNITED STATES HISTORY & GEOGRAPHY	978-0-07-675583-7	4	\$153.79	\$615.16	*Free Materials
IMPACT CALIFORNIA G11 CHAPTER TESTS AND LESSON QUIZZES US HISTORY & GEOGRAPHY	978-0-07-906379-3	4	\$28.60	\$114.40	*Free Materials
IMPACT CA G11 OTE 4YR SUBSC UNITED STATES HISTORY & GEOGRAPHY CONTINUITY &CHANGE	978-0-07-695557-2	4	\$231.00	\$924.00	*Free Materials
SOCIAL STUDIES STUDYSYNC CALIFORNIA BLASTS ADD-ON TEACHER 4 YR SUB (CONNECT2)	978-0-07-691165-3	4	\$19.59	\$78.36	*Free Materials
	Te	acher Reso	urces Subtotal:	\$1,731.92	\$0.00
CA IMPACT Grade 11 - United States	History & Geography: Co	ntinuity & C	hange Subtotal:	\$1,731.92	\$19,397.40
CA IMPACT Grade 12 - Principles of Economics					
Student Resources	· · · · · · · · · · · · · · · · · · ·				
IMPACT CA G12 CMPLT DGTL & PRNT STDNT 4YR BNDL W/STUDYSYNC BLASTS PRIN OF ECON	978-0-07-688177-2	100	\$161.91	\$0.00	\$16,191.00
	S	tudent Reso	urces Subtotal:	\$0.00	\$16,191.00
Teacher Resources					

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

QUOTE DATE: 05/22/2023 ACCOUNT NAME: TEACH TECH CHARTER HIGH SCH EXPIRATION DATE: 07/06/2023

QUOTE NUMBER:

JMCCO-05222023122759-001

ACCOUNT #: 7668261

PAGE #:

Because learning changes everything."

Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
IMPACT CALIFORNIA G12 TEACHER EDITION PRINCIPLES OF ECONOMICS	978-0-07-675557-8	4	\$153.79	\$615.16	*Free Materials
IMPACT CALIFORNIA G12 CHAPTER TESTS AND LESSON QUIZZES PRINCIPLES OF ECONOMICS	978-0-07-906380-9	4	\$53.96	\$215.84	*Free Materials
IMPACT CA G12 ONLINE TEACHER EDITION 4 YEAR SUBSCRIPTION PRINCIPLES OF ECONOMICS	978-0-07-695596-1	4	\$231.00	\$924.00	*Free Materials
SOCIAL STUDIES STUDYSYNC CALIFORNIA BLASTS ADD-ON TEACHER 4 YR SUB (CONNECT2)	978-0-07-691165-3	4	\$19.59	\$78.36	*Free Materials

Teacher Resources Subtotal: \$1,833.36 \$0.00 CA IMPACT Grade 12 - Principles of Economics Subtotal: \$1,833.36 \$16,191.00

CA IMPACT Grade 12 - Principles of American Dem	ocracy					
Student Resources						
IMPACT CA G12 CMPLT DGTL & PRNT SE 4YRBND W/STDYSYNC BLASTS	3 070 0 07	600100 1	100	Ø161 O1	ቀ ስ ስስ	Ø46 404 00

PRIN OF AMER DEMCRCY	9/0-0-10-000190-1	100	ופ.וסוק	φυ.υυ	١٠٠١ تا , ١٥١ ټ
----------------------	-------------------	-----	---------	-------	-----------------

		Student Reso	urces Subtotal:	\$0.00	\$16,191.00
Teacher Resources					
IMPACT CALIFORNIA G12 TEACHER EDITION PRINCIPLES OF AMERICAN DEMOCRACY	978-0-07-675560-8	4	\$153.79	\$615.16	*Free Materials
IMPACT CALIFORNIA G12 ONLINETE 4YR SUBSCRIPTION PRINCIPLES OF AMERICAN DEMOCRACY	978-0-07-695579-4	4	\$231.00	\$924.00	*Free Materials
SOCIAL STUDIES STUDYSYNC CALIFORNIA BLASTS ADD-ON TEACHER 4 YR SUB (CONNECT2)	978-0-07-691165-3	4	\$19.59	\$78.36	*Free Materials
IMPACT CALIFORNIA G12 CHPTR TSTS & LESSON QUIZZES PRINCPLS OF AMERICAN DEMOCRACY	978-0-07-906383-0	4	\$53.96	\$215.84	*Free Materials

Teacher Resources Subtotal:

\$1,833.36

\$0.00 \$16,191.00

CA IMPACT Grade 12 - Principles of American Democracy Subtotal:

\$1,833.36

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

QUOTE DATE: 05/22/2023 ACCOUNT NAME: TEACH TECH CHARTER HIGH SCH EXPIRATION DATE: 07/06/2023

QUOTE NUMBER:

JMCCO-05222023122759-001

ACCOUNT #: 7668261

PAGE #: 5

\$0.00

\$14,906.76

5

Because learning changes everything."

Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
CA Inspire Biology					
Student Resources					
INSPIRE BIOLOGY CALIFORNIA COMPLETE STUDENT 3 YEAR BUNDLE	978-0-07-696692-9	132	\$112.93	\$0.00	\$14,906.76
	•	Student Res	ources Subtotal:	\$0.00	\$14,906.76
<u>Teacher Resources</u>					
CALIFORNIA BIOLOGY TEACHER WALKAROUND EDITION	978-0-07-683066-4	4	\$202.23	\$808.92	*Free Materials
INSPIRE BIOLOGY CALIFORNIA ETEACHER EDITION 3 YEAR SUBSCRIPTION	978-0-07-696681-3	4	\$126.00	\$504.00	*Free Materials
INSPIRE CA HIGH SCHOOL PROGRAM GUIDE A TEACHERS TOUR (PDLSDE)	978-0-07-687517-7	4	\$11.24	\$44.96	*Free Materials
INSPIRE SCIENCE CA G9-12 CAST INSPIRING CAST SUCCESS GUIDE	978-0-07-683067-1	4	\$22.47	\$89.88	*Free Materials
		Teacher Res	ources Subtotal:	\$1,447.76	\$0.00
		CA Inspire	Biology Subtotal:	\$1,447.76	\$14,906.76
CA Inspire Chemistry					
Student Resources					
INSPIRE CHEMISTRY CALIFORNIA COMPLETE STUDENT 3 YEAR BUNDL		132	\$112.93	\$0.00	\$14,906.76

Student Resources Subtotal:

<u>Teacher Resources</u>					
CALIFORNIA CHEMISTRY TEACHER WALKAROUND EDITION	978-0-07-683072-5	4	\$202.23	\$808.92	*Free Materials
INSPIRE CHEMISTRY CALIFORNIA ETEACHER EDITION 3 YEAR SUBSCRIPTION	978-0-07-696702-5	4	\$126.00	\$504.00	*Free Materials
INSPIRE CA HIGH SCHOOL PROGRAM GUIDE A TEACHERS TOUR (PDLSDE)	978-0-07-687517-7	4	\$11.24	\$44.96	*Free Materials
INSPIRE SCIENCE CA G9-12 CAST INSPIRING CAST SUCCESS GUIDE	978-0-07-683067-1	4	\$22.47	\$89.88	*Free Materials

 Teacher Resources Subtotal:
 \$1,447.76
 \$0.00

 CA Inspire Chemistry Subtotal:
 \$1,447.76
 \$14,906.76

\$968.64

\$13,503.60

Cunningham, Principles of Environmental Science,	2023, 1e				
CUNNINGHAM PRINCIPLES OF ENVMNTL SCIENCE 2023 1E PREMIUM STDNT BUNDLE 3YR SUB	978-1-26-574054-2	132	\$102.30	\$0.00	\$13,503.60
CUNNINGHAM PRINCIPLES OF ENVIRONMENTAL SCIENCE 2023 1E TEACHER MANUAL	978-0-07-700651-8	4	\$43.23	\$172.92	*Free Materials
CUNNINGHAM PRINCIPLES OF ENVIRONMENTAL SCIENCE 2023 1E 3YR TEACHER SUBSCRIPTION	978-1-26-573827-3	4	\$198.93	\$795.72	*Free Materials

Professional Development

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

Cunningham, Principles of Environmental Science, 2023, 1e Subtotal:

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

QUOTE DATE: 05/22/2023 ACCOUNT NAME: TEACH TECH CHARTER HIGH SCH EXPIRATION DATE: 07/06/2023

QUOTE NUMBER: JMCCO-05222023122759-001 ACCOUNT #: 7668261 PAGE #: 6



Because learning changes everything."

Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
PROFESSIONAL DEVELOPMENT ONSITE TRAINING K-5	978-1-26-452859-2	3	\$3,500.00	\$0.00	\$10,500.00

Complimentary Back to School Sessions are also available.

Professional Development Subtotal: \$0.00 \$10,500.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

QUOTE DATE: 05/22/2023 ACCOUNT NAME: TEACH TECH CHARTER HIGH SCH EXPIRATION DATE: 07/06/2023

JMCCO-05222023122759-001 ACCOUNT #: 7668261 PAGE #: 7



QUOTE PREPARED FOR:

TEACH TECH CHARTER HIGH SCH 10000 S WESTERN AVE LOS ANGELES, CA 90047-4254 ACCOUNT NUMBER: 7668261

CONTACT:

VALUE OF ALL MATERIALS	\$192,032.64
FREE MATERIALS	(\$15,985.44)
PRODUCT TOTAL*	\$176,047.20
ESTIMATED SHIPPING & HANDLING**	\$4,518.97
ESTIMATED TAX**	\$15,726.98
GRAND TOTAL	\$196,293.15

Because learning changes everything."

SUBSCRIPTION/DIGITAL CONTACT:

Со	m	m	er	ıts

Terms of Service:

By placing an order for digital products (the 'Subscribed Materials'), the entity that this price quote has been prepared for ('Subscriber') agrees to be bound by the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. Subject to Subscriber's payment of the fees set out above, McGraw Hill LLC hereby grants to Subscriber a non-exclusive, non-transferable license to allow only the number of Authorized Users that corresponds to the quantity of Subscribed Materials set forth above to access and use the Subscribed Materials under the terms described in the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. The subscription term for the Subscribed Materials shall be as set forth in the Product Description above. If no subscription term is specified, the initial term shall be one (1) year from the date of this price quote (the 'Initial Subscription Term'), and thereafter the Subscriber shall renew for additional one (1) year terms (each a 'Subscription Term'). Provided MHE has observed to renew the subscription and has sent an invoice for such Subscription Renewal Term to Subscriber.

Provisions required by Subscriber State law

ATTENTION: In our effort to protect our customer's data, we will no longer store credit card data in any manner within in our system. Therefore, as of April 30, 2016 we will no longer

^{*} Price firm for 45 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.

accept credit card orders via email, fax, or mail/package delivery.	Credit card orders may be placed over the phone by calling the number listed above or via our websites by visiting			
www.mheducation.com (or www.mhecoast2coast.com).				
School Purchase Order Number:				
Name of School Official (Please Print)	Signature of School Official			
PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER				

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605 Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

QUOTE DATE: 05/22/2023 ACCOUNT NAME: TEACH TECH CHARTER HIGH SCH EXPIRATION DATE: 07/06/2023

QUOTE NUMBER: JMCCO-05222023122759-001 ACCOUNT #: 7668261 PAGE #: 8

SEND ORDER TO: